  		Activity: Exercise Future
Producto Integrador


Instruction: 
Change these sentences from simple present-to-present progressive as future in the negative form. 
Example:
He tries to get a job  =  He isn´t going to try to get a job.
Remember that you can contract:
 I am not = I´m not.  You are not = You aren´t.   He is not = He isn´t.
1. I sell my car.
2. We celebrate my birthday this year.
3. They cook dinner tonight.
4. Robert studies harder.
5. She tries to change her wardrobe.
6. Tessa fell for Mark. 
7. He helps us with homework.
8. Helen dumps her boyfriend.
9. Sue and Stan break up the engagement.
10.Toby & Chloe split up.
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	The exercise is correct and complete.  
	More than half of the answers are correct.
	Less than half of the answers are correct.
	The majority of the answers are wrong.



Send it through Virtual Platform.
Remember, the name of the file should be: 
Last Name_Given Name_Exercise_Future
[bookmark: _GoBack]
            


Crange thse setances fom simple prsent L present progressive 35 utura i the
negate form.

Eamp
e it get 0 = e 't ging o ry o et b
Remember ha you can contrct

They ok cnner tanght

Robart stoges narder
[

Heln Gumps her by,

Son and St bk vt sogsgemen.
1070y 8.l 5t .

CATEGORY  BACELLENT  GOOD REGULAR  LIMITED

SENTENGES [T exeriue 1 Hore than nat Lo than-nat | 1he majorty f
camect 30 o the answersof the answers | e smowers
compite, | recomct [ secorect. | are wrong

Send e thraugh Vel ot
Last Name. Given Nome. Exercce. Future

B —



